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(1) Para os números complexos z, z1, z2 e z3, faça corresponder a primeira coluna à segunda.

( 1 ) z = ( )
|z1|
|z2|

; com z2 6= 0.

( 2 ) z1 ± z2 = ( )
z1
z2

; com z2 6= 0.

( 3 ) z1z2 = ( ) z.

( 4 )

(
z1
z2

)
= ( ) |z1|+ |z2|.

( 5 ) |z| = ( )
z + z

2
.

( 6 ) | − z| = ( )
z − z

2j
.

( 7 ) |z1 ± z2| ≤ ( ) |z|.

( 8 ) |z1 ± z2| ≥ ( ) (z1 − z2)(z1 + z2).

( 9 ) |z1z2| = ( )
|z1|∣∣∣|z2| − |z3|∣∣∣ com |z2| 6= |z3|.

( 10 )

∣∣∣∣z1z2
∣∣∣∣ = ( ) |z1||z2|.

( 11 )

∣∣∣∣ z1
z2 + z3

∣∣∣∣ ≤ ( ) zz.

( 12 ) Re(z) = ( ) |z|.

( 13 ) Re(z) ≤ ( ) z1 ± z2.

( 14 ) Im(z) = ( ) |z|.

( 15 ) Im(z) ≤ ( ) |z|.

( 16 ) |z|2 = ( ) z1 · z2.

( 17 ) (z1 + z2)2 = ( )
∣∣∣|z1| − |z2|∣∣∣ .

( 18 ) (z1 + z2)3 = ( ) z21 + 2z1z2 + z22 .

( 19 ) z21 − z22 = ( ) z31 + 3z21z2 + 3z1z
2
2 + z32 .

( 20 )
1− zn+1

1− z
= ( ) 1 + z + z2 + z3 + · · ·+ zn; com z 6= 1.

Bons estudos!
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